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1. Total weight of WAG-9H loco is

A 78T B.123T
C.132T D. None of these

2. What is the Nominal OHE voltage required
for electric locomotive?

A. 35 KV B. 11KV

C. 25KV D. None of these

3. What is the battery voltage of WAG-9
Locomotive?

A. 120V B. 115V

C. 110V D. None of these

4. What is the rated voltage of TM of WAG-9
locomotive?
A. 2180V
C. 1100V

B.2200V
D. None of these

5. Which type of traction motor are used in 3-
phase locomotive

A. DC shunt motor

B. Three phase Induction motor

C. Single phase Induction motor

D. None of these

6. How many main air reservoirs is/are there
in WAG-9 Locomotive?

A1 B.2 C.3 D.None of these

7. Hotel load is available in which locomotive?
A. WAG-7 B. WAG-9

C. WAP-7 D. None of these

8. FDU is used to

A. Detect fire smoke in locomotive
B. Controi fire in locomotive

C. Extinguish fire in locomotive

D. None of these

9. Location of FDU in WAG-9 locomotive is at
A. HB-1 Panel

B. SB-1 Panel

C. SB-2 Panel

D. None of these

10. What is the full form of MPCS?
A. Microprocessor-based Control System
B. Microcomputer-based Control System
C. Microcontroller-based Control System

D. None of these

11. Total number of key positions of BL key in
3-phase locomotives

A1 B.2 C.3 D. None of these
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12. In three phase loco, if cab ig activated and
pantograph is not raised, CE wil|

switch off after Minutes
automatically.
A5 B10 C.15

D. None of these

13. What kind of battery
locomotives?

A.NiCd B. Lead acid
C.Li-ion  D. None of these

is used in 3-phase

14. How many battery chargers is/are
available in WAG-9 locomotive?

A.1 B.2 C.3 D.Noneof these

15. How many battery boxes is/are there in
WAG-8 locomotive?

A1 B.2 C.3 D.None of these

16. What is the number of MCB for battery
charger?

A 120 B.110 C.127.2 D.None ofthese

17. Locomotive battery voltage is shown in
cab through which meter?

A.UBA B. TE/BE

C. MR gauge D. None of these

18. Number of battery per box in WAG-9
locomotive is

A.11 B.12 C.13 D. None of these

19. What is the cell model of WAG-9 Loco?
A. SBL-198 B. SBL-199

C. SBL-200 D. None of these

20. Harmonic filter of WAG-9 Locomotive
consist of

A. Resistance and

B. Inductance and Capacitance

C. Inductance and resistance

D. None of these

21. If harmonic filter get bypassed by system,
the speed of focoftrain will be

automatically restricted up to

KMPH by CE

A. 20 B.40 C.50 D. None of these

22. Resistance of harmonic filter of WAG-9
Loco is located at

A. SB panel B. Cab
C. Roof D. None of these

—
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23. What kind of blower is used for cooling of
harmonic filter resistance?

A. OCB B. MRS

C. HRS D. None of these

24. OCB is used in WAG-9 locomotive for
cooling of

A. SR oil B. TR ail
C.SR&TRoil D.None of these

25.How many OCB is/are there in 3-Phase
locomotive?

A.1no B. 2 nos.

C. 3 nos. D. None of these

26. What kind of motor is used in Oil cooling
Blower?
A. DC motor B. Single phase AC motor

C. 3 phase AC motor D. None of these

27.. MVMT is used in WAG-7 locomotive
A. For cooling of TFP oil

B. For cooling of TM

C. For Cooling of SL  D. None of these

28. How many MVMT is /are there in WAG-7
locomotive?
A. 1 No. B.2Nos. C.3Nos. D.None
29. What is the voltage rating of motor used in
MVMT?

A.415V, 3 phase

C. 415V, single phase

B. 220 V, 3 Phase
D. None of these

30. How many Compressors is/are there in
WAG-7 locomotive?
A.1No. B.2No.C. 3 No. D. None
31.. Compressors is used in electric
locomotive

A. To build-up MR air pressure

B. To run the locomotive

C. To stop the locomotive  D. None of these

32. What is the function of MVSL in WAG-7
Loco?

A. Cooling of Silicon rectifier

B. Cooling of SL-30

C. Cooling of TFP D. None of these

33. How many MVSL is/are used in WAG-7

locomotives?

A. 1 No. D. None

B. 2No. C. 3 No.
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34.Which of the following loco uses MvSL
blower?

A. WAG-7
C.WAP-7

B. WAG-9
D. None of these

35. Which of the following loco uses ARNO
CONVERTER?

A. WAP-4 B. WAG-9H
C. WAP-5 D. None of these
36. ARNO is a

A. Static converter B. Rotary Converter
C. Single phase converter D. None of these

37. ARNO is used to convert
A. Single Phase AC to Two Phases AC
B. Two Phases AC to Three Phases AC

C. Single phase AC to Three Phase AC
D. None of these

38.. How many ARNO is/are there in
conventional iocomotive

A. 1 No. B.2No. C. 3 No. D. None
39. SIV and ARNO can be used together in
conventional locomotive?

A. YES B.NO

C.Don’ tKnow D. None of these

40.SiVis a
A. Dynamic Converter B. Static Converter
C. Rotary Converter  D. None of these

41. Which of the following relay is associated

with SIV?
A QSIT B. QRSH
C.QOP D. None of the above

42. Current is collected from OHE to A.C. loco
through

A. Transformer B. Circuit breaker
C. Pantograph D. Servo motor

43. Taps on autowinding of TFP are provided
for

A. Speed control  B. Protection from surges
C. Shorting of windings
D. Avoiding overloading of TFP

44. Which one of the fotlowing is not a safety
item?

A. ACP Unit B. Hand brake

C.Head Light  D. Corridor Light

45. The maximum rpm of a Hitachi Traction
Motor is?
A. 895 rpm

B. 100 rpm
C. 1100 rpm

D. 1250 rpm
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46. Wheel slipping occurs

A. Due to down gradient

B. Due to poor brake power

C. If applied tractive effort is more than
adhesive weight of loco

D. None of the above

47. For changing direction of loco movement,
following is used

A.CTF B. Reverser

C. Shunting contactor D. Pantograph

48. BA are used for powering

A. ARNO convertor B. Traction Motor (TM)
C. Cab heater

D. Auxiliary compressor (MCPA)

49. Hydrometer is used for measuring
A. Level of electrolyte in BA

B. Total charge stored in BS

C. Specific gravity of electrolyte

D. Terminal voitage of BA

50. Maximum air pressure in electric loco
brake cylinder with A9 application is
A.25kglcm2  B. 3.5 kg/cm2
C.20kglem2  D.5.0 kg/lcm2

51. Relay to detect abnormalities in TFP is
A. QRSI B. QOP
C.Qwm D. QOA

52. AFL circuit works in case of
A. Train parting  B. Chain pulling
C. both (A) & (B) D. None of these

53. Pantograph rising time is adjusted
between

A.6to10sec. B.5to 10 sec.

C. 5to 8 sec. D. None of these

54. Field shunting in loco is done to
A. Increase tractive effort

B. increase power of loco

C. Increase speed

D. None of these

55. Noise / vibration level of bearing is
measured in

A.dB B.Dd C.BD D.None of these

- W FYUATH

46, aRT R QT ¢
A. TaTeT AN glet & HROT
B. @IS #% Ta & FROT '
C_uﬁm%mmmmmmﬁ$ﬁmm
aaa A HOFE

D. 390 # @ FE AL

47. Jver aret Y R agae & fav fArafafad F gatr
T STar §

T AT & Radw

. e dudkeat & o

48. 1T 1 37T AfFT YT A & v Far smar
U UHRUAN Faaex & ¢Fad Aret (&rom)
WHROT  F wgTs FA6 (D)

49. FISZIHAICT FT 3UANT AT & T R Srar &

A. AT 7 SAFIASE T T

B. dIeH 3 WA Fel ATt

C. gaTgIenge i AT 5

3. N &1 <Al Ao

50. A9 3eTIAIT & 1Y SAfaee Al 9% st
HOFaA A e §

A. 25 fRam@aA2 &Y. 3.5 A2

. 2.0 Rz . 5.0 fFamran

51. ATHER F FATHIATHT 7 9ar amet & AT RS 2
T RPIREIE A g

3. Fg3T

52. AFL afée fras Ae & F 1 Far 2

T. ¢ faers . A= digen
C.q&t (T) 3R (&) D. s AAS T&

53. YOTE F 354 F TAY FRES g TS e

\
|
/f
|
\

ST 87

A 6X10@H3| o1 58 10 J+s.

@ 5783, D.sAX A AT A

54. M 7 Rres afeaT R ST &
R —— L L L ek

55. AURT T AR/HT TR ATIT AT &
cAd AT DA DA ARE A

- — W




56. What type of bearing is used in WAG-7
loco axle box?

A. Ball bearing B. Roller bearing

C. Tapered bearing  D. Needle bearing

57. In a failed WAP-4 loco, it is found that in
TMS5 carbon brush was touching to the
TM body, which relay would have been

operated
A QLM B. QRSI
C. QOP2 D. QOP1

58. MVRH is provided to cool the
A. Traction Motor B. RSI block
C. TFP Radiator D. Compressor

59. What is the time interval between IA and
|IB schedule of WAG-9 loco is

A. 45 days B. 60 days

C. 90 days D. None of these

60. There are nos. of main
poles (MP) in a Hitachi TM.
A.6 B.4 C.2 D.Noneofthese

61 WAG-7 loco is using type
of bogies

A. Flexicoil co-co B. Fabricated co-co
C. Trimounted co-co  D. None of these

62. Loco TFP has

voltage control

A. 16 B.32 C.12 D. None
63. Sand is used in locomotives to avoid

A. Wheel skidding B. Wheel slipping

C. Brake failure D. All the above

64. QRS relay is associated with which
equipment

A. RSI B.SL C.TFP D. None

65. Rheostatic braking is used in
A. Conventional Loco B. 3-Phase Loco
C.BothA&B D. None of these

66 Regenerative braking is used in
A. Conventional Loco

B. 3-Phase Loco

C.BothA&B

D. None of these

Nos. of taps for
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67. How many Taps are there in Tap Changer
of WAG-7 transformer?

A. 12 B. 24

C.32 D. None of these

68. What is the G.T.O.
A. Gate turn on

B. Gate turn Off

C. Gate turned operation
D. None of these

69. The lowering time of pantograph is
A . 8to 11 Sec B. 7to 10 Sec
C.10to 12sec  D. None of these

70. The ideal value of power factor is

A 0¢ B.0.8

C.1.0 D. None of these

71 The specific gravity of fully charged lead

battery is
A. 1200 B. 1260
C. 1230 D. None of these

72. The acid used in lead acid battery is
A. Salt acid

B. Sulphuric acid

C. Sodium chloride

D. None of these

73. The work of step down transformer is to
A. Change the voltage

B. Reduce the voltage

C. Give constant voltage

D. None of these

74. The materiat used for fuse wire is
A. Lead + Aluminium B. Lead + Tin
C. Aluminium + Copper  D. Silver + Copper

75. Which one of the relay is used for
indication of failure of SIV?

A. QSIT relay B. QLM relay

C. QSWM relay D. QTD101 relay

76. Current is measured in...
A. Ohms B. Amps
C. Volt D. None of these

77. 9-volt battery that give 5A current. how
much power will this battery will dgenerate?
A. 9 Watt B. 45 Watt

C. 14 Watt D. None of these
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78.Which device converts electrical energy
into mechanical energy?

A. Motor B. Generator

C. Transformer D. None of above

79. Find the correct formula, 1 = current, V =
voltage, R = resistance

A l=VR B.I1=RN

C.V=IR D. None of these

80. Copper wire is a
a. Good conductor b. Bad conductor
c.Bothaandb d. None of this

81. Which type of current is obtained from a
battery?

a.AC b.DC

c. Both AC and DC

d. Depends on type of battery

82. During the situation of short-circuit, the
current in the circuit

a.reducesto zero  b. increases greatly.
c. does not change d. oscillates

83. Which of the following circuit elements will
oppose the change in circuit

current?

A. Capacitance
C. Resistance

B. Inductance
D. None of these

84. Power factor of electric bulb is
A. Unity B. Zero
C. Leading D. None of these

85. In an A.C. circuit power is dissipated in
A. Resistance only  B. Capacitance only
C. Inductance Only D. None of these

86. MVSiI is used to cool

A. RSI Block B. SL-30

C.TFP D. None of these

87. How many MVSl is /are there in WAG-7
Loco?

A. 1 No. B. 2 Nos.

C. 3 Nos. D. None of these

88. What is the required voltage for operation
of auxiliary compressor?
A 110V DC B. 110V AC single phase
C.220VDC D. None of these
89. How many MCPA is/are there in WAG-9H

locomotive?
A 1 B.2
C.3 D. None of these

78.ﬁam3mwﬁagam‘rﬂuiﬁm3ﬁﬁﬁwﬂaﬁa
AT §?

T Al & I

TR D. 3w # ¥ P o1t

79. WOV YA AA Y, | = U, V = Ao, R = ghRly
TS =R & I = s

WA =EHR D, ot A S ot

80. e &7 A &

T| 3T Hags & FaEE

WA B & 5w ddas g

81. 9 I v v i Ry s @ 22

7| T o) A
1wl A A &) $eh 5 v o7 B AT |

- 82. Aié-afde i Rufy » ehia afde F e

UFEAFGAE W Fgadesnarg

Hl 95T A 3} oscillates !
83. farAfaf@d & & #ler a1 wfde dca afhe & IRad=T
ferdes Rt kg

T. eRar & Wehca mk
Moy DA ARTAH |
84. g Jod & T haet ¥

TOHAT WY

3ot DR A RS AE

85. AC. e HaFawremaary

A Faa 90y B. Fad aiar

. FIAROT D, 37 A FE 7

86. MVSI & Y3137 331 F3a & v g Sirar &

U IRCHAS sl &Y. THUA-30

@, Soed D. 318 q F% A8

87. WAG-7 dtah! 3 fahqar MVSI @13 &2

3.14. @27 W37 D AN AREAE
88. WETTH FAW F AT & AT A TqF Areest RT &2
T 110 &t S 1. 110 ff vl vahe WU
W20 W D AR ARG AR

89. WAG-9H drrafea # fardet MCPA @1a €872

3.1 #.2

. 3 D. 5 ¥ IS AL
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. ' AT & AR Saa &
90. Which Cab is nearer to Pneumatic panel 90, FT T & WAG-9 dllar N
of WAG-9 loco motive? Fa 87 )
A. Cab-1 B. Cab-2 & &Fa-2
C. Between cab-1 and cab-2 U. Fd-1 '
D. None of these C. %313 25T D. ga##mﬂﬁ
91. ZPT switch is used to 91. ZPT feaw & 3aztar fFam AT &
A. Raising of pantograph N TAD ]
B. Lowering of pantograph A. % FN @3 A
C.BothA&B D. None of these &t dRvarn #Y A Fr
C.AMBAA D zAREAE /
92. What is the full form of DRM?
A. Divisional Railway Board 92. YRR &1 quf &1 771 37
B. Division Rail Maintainer U) e @ @ ) e m e
C. Divisional Railway Manager |
D. None of these | ) RRTmYmR Mm@ s
93. HST ¥ R F1fHes fvm &1 o A= 2 2 -
93. Who is the head of personnel department at ) ffmR Sften ) PR Satm
division level?
A.S.DCM  B.Sr.DOM 0 RFR el &) Ty
C. Sr.DPO D. None of these
94. YR B TP Vo S W 3
S4. Which is the national sport of India? 1) gia ) f5Fe
A. Hockey B. Cricket
C. Kabaddi D. None of these hpast ) FTHAADE T
95. How many LHAP are available in a calendar 95. U Haiex aY # fbe LHAP Sud& 8 32
year? 10 (d) 15 () 20 (&) 25
() 10 (b) 15 (c) 20 (d) 25 (® 10 (d) 15 (M) 20 &) |
96. What is the maximum time period for which child 96. "'@nﬁq il a%nomala & fore At ST ST
care Leave can be sanctioned? wipd ST Hh T & |
(a)1 year (b) 2 years (c) 3 years (d) 5 years ) 1 919 (off) 2 91t () 3 91 () 5 9 |
97. What are the maximum no. of I;AP's that can be 97. LAP &1 siison Sen s €, R ga;ﬁqﬁ I ':.
encashed at the time of retirement? AT Glﬁﬁb—cﬂ% .‘
(a) 150 (b) 200 (c) 300 (d) 360 @ 150 (& 200 &) 300 &) 360
98. What is Pass? o 98. UM I §?
(a) Pass is a Privilege. (b) To travel I'n Rall\tfvaty | @ T U@ RAVRER 31 (@) Yed d am ErEE AR
(c) Authority given to a Railway employee to trave T YR B &
in a train gratuitously.  (d) None of these. @) Yok i) &) o Pl g & ¢
99. Full form of P.T.O forg e v l (H)S‘Tﬁ%ﬁ%:‘ﬁ\
. Full form of P.T.O.
(a)Personnel Ticket Order (b)Permanent Ticket Order 99, didtall 1 pa WiH I
(c)Privilege Ticket Order (d)Pass & Ticket Order. ) W e s (@) e
(e Rofif Reve s (@) TR o fowe e
100. S (S THR a1 quf ¥ FT 82
100. What is the full form of D&AR? ) mmmmm
(a) Disaster and Accident Rescue team s P
(b) Discipline and Appeal Rules N ey SR 3R il
(c)Department and Administrative Rules H!lmﬁaﬁ
(d) Disaster and Action Rules (‘ﬂ) fasm M

&) 3Ie 3R Prear

age 100



101 .S TTHIST FREIAA VAT F NI —— 110,577 ¥ TUA ToEHA BT 2 -

= J (@) AR o (s JFTe

A. I@#ERN/Minister of railway  B.ShTH/ GM (&) Tl g T (&) T & %
C. g 3t SwH/SDGM D. @t & 3 TH/PCOM

102. #sd TANNT Frfeads FRTY & HEET -

¥
A St TH/.GM B.AYW/DRM

C. aft. #uRw/Sr.DOM D.geT. IRW/AOM

103. R Raw Fa AAT 1T 87
()18 RaFR (&) 14 R
(¥ 2 IR (@) 8 T

104. TrorHTeT ARTH FT Fa=T T™AT?
(T)7 S 1963 () 17 75 1963
(@ J10T$ 1963 () 17 IFTET 1963

105. TASTHATST AT & T5A Fd HAT I=AT
(©)7 =7 1955  (d) 7 57 1956
(& 10 7S 1963 () 17 5= 1952

106.TTSTHTST 3T F e e da ®
() 20 (&) 15 (&) 30 (31) 10

\ 107 TwTT FEE ERfA F T Bhae weET @
T
| @40 @20 @30 @25

108.37=TATeT AAATH Fa qAT4a1 7TAT ?
() 1967 (dr) 1963 () 1976 (31) 1965

109.TTTHTNT fATH, 1976 HITER IHvsAE famar

A aHg e & & AT ¥
(@) '@ &7 CURCES
@Fas () 'FeE T T oA
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ANSWER SHEET

Answer Key for the selection of the post of Tech-Ill (TRS) in level-2 against 25% Qualifying quota

TRS Dept. under Sr DEE (TRS)/GMO, Held on 24-06-2024
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